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{ssn_ (Government Of India)

Challenges

Question 1.Select the related word/letters/numbers from the given alternatives:

&3 Iy faeheal & @ Farfewre Qrec) 316RI/EEaT T giav|
Owl : Hoots :: Hen : ?

Sl : Hge :: F{E: ?
Options:

1) Chirps

-7 =T

2) Clucks

3) Coos

LN (3 «)

4) Cackles

Correct Answer: Clucks
Candidate Answer: Cackles

Question 2.Select the related word/letters/numbers from the given alternatives:

&3 Iy faeneal & @ Farfetrey Qrec) 36RI/EEaT T giav|
AKU : ? :: CMW : DNX

Options:
1) BGL

2) BLQ
3) BGQ

4) BLV
Correct Answer: BLV
Candidate Answer: BLV

Question 3.Select the related word/letters/numbers from the given alternatives:

&3 Iy faeheal & @ Fafetre Qree)/ 31&RI/EEaT T giav|
5:100::7:7

Options:
1) 49

2) 196
3)91

4) 135
Correct Answer: 196
Candidate Answer: [ NOT ANSWERED ]
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Question 4.

For the following questions
Find the odd word/letters/number from the given alternatives.

TFATET weaT & foT 10 fenedl & & TawH 2fee/ 3R/ HEdT 78 HT giav ?

Options:

1) Time

" T

2) Skill

Fierer

3) Interest
R

4) Knowledge
AR

Correct Answer: Time
HAT

Candidate Answer: Time
AT

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

rAfaTed e & U a1v faenedl 7 & fawer eree) 316/ 6EAT Z7A 1 AT ?

Options:
1) CPA

2) REB
3) QUD

4) AOT
Correct Answer: CPA
Candidate Answer: [ NOT ANSWERED ]

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

TFATET weaT & faU 10 fened] & & TawH 2lec/31eR/HEdT I8 H giav ?

Options:
1)15-21

2)32-41
3)22-27

4)31-35
Correct Answer: 15 - 21
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per order in the dictionary and then choose the one which comes last.
rafaf@d ereel #I e 7 fov v o & 3e7ar AT ?

1. Qualify 2.Quarter 3.Quarrel 4.Quaver
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Options:
1) Qualify
2) Quarter
3) Quarrel

4) Quaver
Correct Answer: Quaver
Candidate Answer: Quaver

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TFAToTREe Tea 1 eh 31eThe T arar &, Fores Ueh v ofed &1 few 10 fashedt & & a8 WEY faehod iaT it 37egshat T O ol ?

DF, GJ, KM, NQ, RT, ?
Options:

1) EI

2) UX

3) uv

4) XY
Correct Answer: UX
Candidate Answer: UX

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
TaATErT 9o & Ueh Jiefehed feaT 1T &, Tl weh ue ofed 81 U 970 fashont 7 & ag @el fashed YT Sif 3esher i qRT HYaT ?

2,7,14,23,34,?
Options:

1) 47

2) 39

3) 42

4) 46
Correct Answer: 47
Candidate Answer: 47

Question 10.A and B are standing at place "P". They start moving in the opposite directions at the speed of 5 Kmph and 4 Kmph respectively. What will be the
distance between them after 3 hours?

A 3R B, 'P' T W T @ik 1 faolicT & # shaer: 531X 4 foholl #iiex Uiy Her ot wiTel & Teiell e e § | cliet ¢ o ae; &l oh s ettt gl gty 2
Options:

1) 3 kms

3 foraietiex

2) 21 kms

21 frelAieR

3) 18 kms

18 fheiaiey

4) 27 kms

27 fhdi#eR

Correct Answer: 27 kms

27 freliAiex

Candidate Answer: 27 kms

27 el

Question 11.If Usha is taller than Nisha; Nisha is taller than Asha; Alka is taller then Usha. Harsha is shorter than Asha; then who among them is the tallest?

e 3w, fAer O el §; T, 3men & ool §; 37c1ahr, 39T & oFll §; YT, 31T & SIS &1 dF o181 & Tad olFal HleT & ?
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Options:
1) Usha
39T
2) Alka
3ot
3) Nisha
farem
4) Asha
3R

Correct Answer: Alka
3ol

Candidate Answer: Alka
3ol

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
el Recat # & g5 eee IRAT St AT 97T 2eg % 3R T TIWT e F7ET SeA1AT ST FehelT 2

DHARAMSALA

Options:
1) MASALA

2) ARAMANA
3) RAMA

4) SAHARA
Correct Answer: ARAMANA
Candidate Answer: ARAMANA

Question 13.If in a code GONE is written as ILPB then how may CRIB be written in that code?

Ife fRelY S5 7 'GONE' Y 'ILPB' forar ST €1 af 33 &his 3 'CRIB' Y $HdY forgr sy ?

Options:
1) EUKY

2) EKUY
3) EYUK

4) EOKY
Correct Answer: EOKY
Candidate Answer: EOKY

Question 14.
In a certain code language, @ represents +, 63 represents ' —', a represents '+ and '’
represents ‘%", Find out the answer to the following auestion.

T gesamAedsmag+ oFImT L aFamme +, Ao &
T & x o FeaeiET 99T & g AT F1

10763 64as8B269=7

Options:
1) 295

2) 290
3) 209

4) 105
Correct Answer: 295
Candidate Answer: 295
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Question 15.If 12x16 = 188 and

14x18 = 248,

then find the value of
16x20 = ?

I 12x16 = 188 3%

14x18 = 248 grar

16x20 3T AT FIT B9 ?

Options:
1) 320

2) 360
3) 316

4) 318
Correct Answer: 316
Candidate Answer: 318

Question 16.Find the missing number from the given alternatives.

o a1 et 3 & e HeAT A BT ?
8
? 16
56 e 24
48 32
40

Options:
1) 60

2) 62
3) 64

4) 66
Correct Answer: 64
Candidate Answer: 64

Question 17.0ne morning, Raju walked towards the sun. After some time he turned left and again to his left. Which direction is he facing?

T Goig T G AT 3 =Iell| F& & % &1, dg a10 AT AT O 3qe 910 g7 | 36 He ey ferem oy 3w 22
Options:

1) North

3ccd¥

2) South

gfaror

3) East

o

4) West

R

Correct Answer: West
gf¥eeT

Candidate Answer: West
IEDE ]
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Question 18.0ne or two statements are given followed by two conclusions/assumptions, I and II. You have to consider the statement to be true, even if it seems to be
at variance from commonly known facts. You are to decide which of the given conclusions/assumptions can definitely be drawn from the given statement. Indicate
your answer.

Statements: 1. If people are intelligent, they should be creative.

Assumptions: I. Creativity and intelligence are related. II. Creative people are intelligent.

RAfaf@d g 7 e I1 Y gadey Ry 31w § fSieteh 31m9Y &Y Ases /A=Ay, I 31k 11 fAerel 31T §1 39! [3aR ST & fF aeFded dcg § I8 98 Aead: Ad azar &
e T 8T &Y I AT T § o oU 910 aordey & O Fia-ar Rfad 37 & TE) s/ A=gdr [Rrer S hdT §1 379+ 3cck i e ST

FehcTed : 1. i AT RGHART &1, AT Folellcren o gir|

AT : 1 Folaleaehall] 3R GTEAAT 1 3199 7 ety g1

11 goietTeatars cafd R g &1

Options:

1) Only conclusion I follows

Fael AAAT I T B

2) Only conclusion II follows

Fal AT I1 T &

3) Both conclusion I and conclusion II follow

Awgar I 3R 11 =t Ter €1

4) Neither conclusion I nor conclusion II follows

AT Y AT I T & 3R A7 & vy 11 @ 8

Correct Answer: Both conclusion I and conclusion II follow
AFar 1 3R 11 T T €1

Candidate Answer: Both conclusion I and conclusion II follow

AT I 3R 11 3= |8 &

Question 19.How many rectangles are there in the given figure?

& % A F freet 3mad €2

Options:
1)8

2) 15
3) 24

4) 30
Correct Answer: 30
Candidate Answer: 15

Question 20.In a village some of the goldsmiths are literates. Which diagram shows literate goldsmiths?

T 3iid A F& GAR TER | FHleT-T1 3G FER FoART 1 e:MAr g ?
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Options:
1)

©
@

GE®

Correct Answer:

S

Candidate Answer:

S
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Question 21.Which answer figure will complete the pattern in the question figure?

leT-A Seca¥ el TeeT 3 & ufaed &l qur el ?

Options:
1)

.

2)
3)
4)
a5
i
Correct Answer:

.
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Candidate Answer:

i

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 18 Seart Jperal 3 W 39 g RO ge Y MiRE & 2

Options:

3)

4)

:
b
S
(S

Correct Answer:
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Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I el shreret T, fier eaT JMTepiaal # fRET 31eTaR HSa FieT ST df Wiele! & J16 96 o 3ca il Shar fewrs &am 2

/"“‘* J‘,——-.“
A A AT
w W @ i
Options:

1)
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Candidate Answer:

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T doT & MN Y@T 0X T@T 1T At & 318 3ca? 3pfadl & F la-2 3mepfar gea el &1 wer wfafde g 2

M N

AR R B B a B B B N B B |

Options:
1)
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Correct Answer:

Candidate Answer:

Question 25.1In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., O can be represented by 03,11, etc.,
and 'F' can be represented by 55, 68, etc. Similarly you have to identify the set for the word 'BEAD'

T 6T, el Uah HEAT-TIg SaNT SR 3T 8, i o faaredt 37 & fonely v 31 foam oram ) Rreemt 3 fow a1w W wofg 31T & & aeif g et 97w §, oie e o fiw
TV &Y 3T A §1 3Teg [ F F97 3R dercdl Y FEAT 0 & 4 31 37egE 1115 & 9 &1 918 §1 3T ITe@T U Tah 3BT T Tgol 36! Garelt 3T T1G 3 FI997 HEAT G@RT GRiram
ST Fehell 1 3eTX0T & AT 0" T 03, 11 31T GaRT G ST Fehell & T 'F ' Y 55, 68 31T GaRT &R ST Fehell &1 ST 16 & 9! U U 21 'BEAD' & AT &g 1
qEIAAT ¢

MATRIX | MATRIX 1I

0|12 |3 |4 5/6 7|8 9
O | E/IA|O|U 5| F/ID/B|G H
1 A0 U|Il E 6 B|G|H|F D
2| E|l | O|U A 7 D F|G | HAB
3 O|UE|A|I 8 G HD B |F
4 U Al |E|O 9 H Blg& Q D

Options:

1) 97, 32, 14, 56
2) 88, 41, 20, 57
3) 57, 32,41, 87

4) 75, 14, 20, 57
Correct Answer: 57, 32, 41, 87
Candidate Answer: [ NOT ANSWERED ]

Question 26.Who among the following Sikh Gurus had laid the foundation of Amritsar?

Frfafla # & e R 7% & 3wpaa i smurfer wh & 2
Options:

1) Guru Amar Das

IE AT o

2) Guru Ram Das

T2 A

3) Guru Arjan Dev

[T 39T

4) Guru Har Govind

% X IMdee;

Correct Answer: Guru Ram Das
QIRRIE )

Candidate Answer: Guru Har Govind

% & AMidee
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Question 27.1In the 42nd Constitutional Amendment 1976, which word was added to the Preamble?

42 § T TMY, 1976 S@RT YA 3 HlTT e SNST I1T ?
Options:

1) Democratic

CIETIIECT

2) Equality

HHAT

3) Secular

gAfeRTeT

4) Socialist

HHATSTATET

Correct Answer: Secular

gAfATeT
Candidate Answer: [ NOT ANSWERED ]

Question 28.Which monument is known as "The National Monument of India"?

TR TARS Y 'IR & TSI TARS' Fgd § ?
Options:

1) India Gate

EIERIKIS

2) Gateway of India

e 3w 3T

3) Raj Ghat

JToTdre

4) Red fort

areT fohell

Correct Answer: India Gate
EERIKI
Candidate Answer: Red fort
EICRCT

Question 29.Which of the following country has recently declared 3 month emergency following a failed military coup?

frrfaf@d & & fora er & 310 g1r & A g & a1e 3 Ag A 3muTa AT =g a18?
Options:

1) Sudan

T

2) Turkey

TH

3) Maldives

AT

4) Syria

afr

Correct Answer: Turkey

ad

Candidate Answer: Sudan
RSEIGE

~

Question 30.The award which, the famous writer and social activist Mahasweta Devi, who passed away recently, did not win

a8 HieTa [TERR g, mmmmmmmmmﬁmmmﬁﬁm@a A&l ST ?
Options:

1) Sahity Akademi Award

Tiged IFehTesl ToEhR

2) Jnanpith Award

FAANS TERHR

3) Magsaysay Award

AIHY EHR

4) Padam Vibhushan

o T

Correct Answer: Padam Vibhushan

o FragoT

Candidate Answer: [ NOT ANSWERED ]
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Question 31.Which place is said to be the Manchester of South India?

STEIOT SR T AT T gl € ?
Options:

1) Coimbatore

EIRCrAY

2) Salem

HolA

3) Thanjavur

GREN

4) Madurai

e

Correct Answer: Coimbatore

PRI

]

Candidate Answer: Madurai

G

Question 32.A galvanometer can be converted into a voltmeter by connecting with it a

FeaaAiAeT FI fordeh T ASHT 3 lecHIC TATIT S HehelT & ?
Options:

1) high resistance in parallel

FAR 3Tg gfaRrer

2) low resistance on parallel

AR e gfaer

3) high resistance on series

H@el 7 37 gfoRre

4) low resistance in series

HEem & e wfaRer

Correct Answer: high resistance on series
H@el 7 37 gfoRre

Candidate Answer: [ NOT ANSWERED ]

Question 33.In computer processing, selects processes from the pool and loads them into memory for execution.

FEYR TR H, _____ JeT & Tehall bl oAl ¢ 3R 3¢ Topatiead et & forw AR & oS e g ?
Options:

1) Job Scheduler

e dgaer

2) Resource Scheduler

RERT AsTeR

3) CPU Scheduler

g, YR

4) Process Scheduler

O A5Fe

Correct Answer: Job Scheduler
SERELCH

Candidate Answer: CPU Scheduler
Ly, désgeR

Question 34.Name the first cricketer to score 1000 runs in an innings in any competitive match

el gfaaeft a & v uidYy & 1000 I FAT dTer U fHhoheX T AT IS8T ?
Options:

1) Prithvi Shaw

g2 of

2) Pranav Dhanawade

YUIq gAaTS

3) Virat Kohli

faRTe Figen

4) Shikhar Dhawan

RET gt

Correct Answer: Pranav Dhanawade

YUTT &-TdTS
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Candidate Answer: Pranav Dhanawade

YUTq eAaTS

Question 35.The beach sands of Kerala are rich in

Tl A FHT e YA H SR AT H -7 IR AT ?
Options:

1) Calcium

EaEd

2) Radium

Waw

3) Thorium

Sirory

4) Manganese

EECic)

Correct Answer: Thorium

Sirory

Candidate Answer: Thorium

Siror:

Question 36.During which of the following operating conditions of an automobile, carbon monoxide content in exhaust gas is maximum?

JidAETES A Arfafld & & fra IRame Rufa 7 veagiee 3 7 Fe Ay 3diFaEs Fi 3727 3iftwaa gar g ?
Options:

1) Acceleration

caoT

2) Cruising

AT dTel

3) Idle running

TS et

4) Deacceleration

reavor

Correct Answer: Idle running

AT arele

Candidate Answer: Deacceleration

faeazor

Question 37.India's first Railway University will come up at

AR 1 Tl Yot [aeafaearery sl georam ?
Options:

1) Vadodara, Gujarat

FENeT, TN

2) Bengaluru, Karnataka

FeTeLg, FeAleh

3) Hyderabad, Andra Pradesh

BeTETe; |, 3TET g&RT

4) Lucknow, Uttar Pradesh

AGAS, 3cd TS

Correct Answer: Vadodara, Gujarat
FSIeT , NI

Candidate Answer: Lucknow, Uttar Pradesh
TGAS, I TeRT

Question 38.The Himalayas is the example of

RATRT Ui 58 YR F T T 3E8I0T & ?
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Options:
1) Fold mountains
RAGR 9dd
2) Block mountains
Sollsh gdd
3) Ancient mountains
T add
4) Residual mountains
YRISE gga
Correct Answer: Fold mountains
RAER Tdqd

Candidate Answer: [ NOT ANSWERED ]

Question 39.The largest irrigation canal in India is

SRAA TR T Ry %
Options:

1) Yamuna canal

A A

2) Indira Gandhi canal

giexr Il oTe¥

3) Sirhand canal

fREe 76

4) Upper Bari Doab canal

3T TS I3 g

Correct Answer: Indira Gandhi canal
e el oTgx

Candidate Answer: Indira Gandhi canal
iear Iely oTeY

Question 40.Even after sunset, the air near the Earth's surface continue to receive heat due to

ATE & e 37 gt 1 Hefg & e ary fore HRoT 35T yTed el el & ?

Options:
1) Insolation

ERiseC

LN

2) Terrestrial Radiation

wreiy fafeor

3) Conduction

BICE)

4) Convection

HagsT

Correct Answer: Terrestrial Radiation

ey fafeor

Candidate Answer: Terrestrial Radiation

ey fafeRoT

Question 41.At the Rio Olympics, who was the flagbearer of the Indian contingent?

AT 3P 7 SR g  egiage HieT A?
Options:

1) Narsingh Yadav

g e

2) Abhinav Bindra

3 f&gr

3) Dipa Karmakar

QT HHRT

4) Sania Mirza

AT RS

Correct Answer: Abhinav Bindra
3 f&gr

Candidate Answer: Dipa Karmakar

&t TR
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Question 42.A landscape which is caused due to the fissure in the earth along which one side has moved down with reference to the other is known as

3oT SITHTIT T T gl 8, ST G2t 7 T F FROT FoTcll § AT FNeTeh HROT Teh Helg oY Helg  afel <ol Sfiehl § ?
Options:

1) Rift Valley

faager grér

2) U Shaped Valley

U 3T T a1t

3) V Shaped Valley

V 3R T 91Er

4) Hanging Valley

forerlT Trér

Correct Answer: Rift Valley

faser grer

Candidate Answer: [ NOT ANSWERED ]

Question 43.The largest artery in human body is

AT RR H TaH TS AT Rl & ?
Options:

1) Aorta

HETHAT

2) Capillary

EaRGa)

3) Vena cava

AT haT

4) Pulmonary vein
TR R

Correct Answer: Aorta

FETIHAT
Candidate Answer: [ NOT ANSWERED ]

Question 44.An eudiometer measures

ST FeX ToREhT AT AT ?
Options:

1) Atmospheric pressure

argsisha o

2) Time

qH T

3) Volume of gases

A 1 3T

4) Vapour pressure

g s

Correct Answer: Volume of gases
3 1 3MIAA

Candidate Answer: Vapour pressure
g s

Question 45.Trinitrotoluene is

TSI T FATeT gl o Tt §
Options:

1) used to melt metals

a1q I Il & folw

2) used to fuse two metals

2 et & e & e

3) used as an abrasive

3T & FT H

4) used as an explosive

Aoples F T H

Correct Answer: used as an explosive

TaThlcs & ¥0 7
Candidate Answer: [ NOT ANSWERED ]
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Question 46.In a cut motion, when the amount of demand is reduced by Rs 100/- , it is known as

FldT TEdTT H, ST AT H AR T, 100 FHHF R & ST §, A 3T FATFEA & ?
Options:

1) Disapproval of policy cut

AT Feteht 1 ey

2) Economy cut

Adeaft el

3) Vote on Account

AGIer

4) Token cut

Fihfae seldr

Correct Answer: Token cut

Fichfaeh Feldr

Candidate Answer: [ NOT ANSWERED ]

Question 47.0ne of the leading producers of asbestos in the world is

4eT & TraTerd 1 3ol 3cutes SN Y ?
Options:

1) Australia

sireeforr

2) Russia

*d

3) Canada

hedlsT

4) Armenia

3T

Correct Answer: Canada
hedlsT

Candidate Answer: [ NOT ANSWERED ]

Question 48.Beighton Cup is associated with which of the following?

el HY R AR Fa T a deg ¢ ?
Options:
1) Cricket
fohehe
2) Hockey
gIehr
3) Football
et
4) Volleyball
T

Correct Answer: Hockey
g
Candidate Answer: [ NOT ANSWERED ]

Question 49.If Reserve Bank of India reduces the cash reserve ratio, it will :

g AR R Seh oTehe; RoTd 3TeTdTet o T § Al T TROTH g 2
Options:

1) increase credit creation

0T Folel TGN

2) decrease credit creation

T Goiel T

3) have no impact on credit creation

FOT FoteT I IS T FEH T

4) have no definite impact on credit creation
HOT Goiel TN IS AT w91 76T aam
Correct Answer: increase credit creation
0T Folel TSI

Candidate Answer: [ NOT ANSWERED ]
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Question 50.Nitrification is the biological process of converting

AT [ aRafdd et T sifas afsrar g ?

Options:
1) N, into nitrate

N, # e &

2) N into nitrite

Ny T aATgerse &

3) Ammonia into nitrite

AT F ASgsT H

4) Ammonia into N»

AT Ny 7

Correct Answer: Ammonia into nitrite
AT @ ASese H

Candidate Answer: Ammonia into nitrite

AT A ASCST H

Question 51.If 20 men working 8 hours per day can complete a piece of work in 21 days. How many hours per day must 48 men work to complete the same job in 7
days?

i 20 T 8 Te Ufet T&eT et heeh Tohall s 1 21 &7 & 1 T el &1 T IATC 48 et GiciTeeT fohctel wie i Y foh g ey 7 T 7 i 81 offe ?

Options:
1) 12

2) 20
3) 10

4) 15
Correct Answer: 10
Candidate Answer: 10

Question 52.
ABCD is acyelic quadrilateral. tDBA = 50" and £ADB = 33", Then the measure of £BCDis

ABCD U@ Tm 14 [3YS §1 PI1 208A = 50° 3K BT ,ADE = 32° F1, T BV 2800 F1 A Falsy ?

Options:
1) 83°

2) 80°
3) 75°

4) 60°
Correct Answer: 83°
Candidate Answer: [ NOT ANSWERED ]

Question 53.A shop keeper earns a profit of 12% on selling a book at 10% discount on the printed price. The ratio of cost price to the printed price of the book is

Teh GhIeTER 3ifehel Hed TR 10% T e &1 & 918 12% ol1eT Mol T &1 Toish o 3 o 3R 3ifhd 7o & iy 301 91sv ?

Options:
1) 45:56

2) 50: 61
3) 99: 125

4) None of these
T8 A IS TE

Correct Answer: 45:56
Candidate Answer: 50: 61

Question 54.The number of pupils of a class is 55. The ratio of the number of male pupils to the number of female pupils is 5: 6. The number of female pupils is

Tl ahefl & T BT T 55 &1 B 3R ST & &I 5: 6 1 3T &1 SHEB T HEIT TABT ?
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Options:
1) 11

2) 25
3) 30

4) 35
Correct Answer: 30
Candidate Answer: 25

Question 55.5% more is gained by selling a watch for Rs. 350 than by selling it for Rs. 340. The cost price of the watch is

foel 3T T Rs. 340 & oI TG Rs. 350 # S ST AT 5% AR @me7 gIar &1 =8 &7 56 H{ed 130 ?

Options:
1) Rs. 110

2) Rs. 140
3) Rs. 200

4) Rs. 250
Correct Answer: Rs. 200
Candidate Answer: Rs. 200

Question 56.If 60% of the students in a school are boys and number of girls is 812, how many boys are there in the school?

afe; el fregmerr 3 60% facameiiorss § 3t afrat i dear 812 § o Rezmew # Fo fraw a5 §2
Options:

1) 1128

2) 1218

3) 1821

4) 1281
Correct Answer: 1218
Candidate Answer: 1218

Question 57.1t takes eight hours for a 600 km journey, if 120 km is done by train and the rest by car. It takes 20 minutes more, if 200 km is done by train and the rest
by car. The ratio of the speed of the train to that of the car is:

600 fa.3t. ool amar 3 & g 120 6. & AT ¢ W T ST N AT AT HR F, A A 8 70 A G gl &1 31X A 7 amw & @ 200 A 3R AW A R G AT H
ST &Y 20 fAeTE 7 T T oeTaT g1 &7 3R SR Al =lel T 34T TABT ?

Options:

1) 3:5

2) 3:4

3)4: 3

4)4: 5
Correct Answer: 3:4
Candidate Answer: [ NOT ANSWERED ]

Question 58.
at—a+1

1
Ifa +—=1,then theval e
fa = en etaueofﬂ2+a+1

is{a=0)

1 az—a-l—l
gfe Z=1gr e W FITAT? (a +
a+ 1T, Trary T A Sl ?(a+#0)
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Options:
1)1

2)-1
3)0

4)2
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 59.If m + n = 1, then the value of m3 + n3 + 3mn is equal to

IR m+n=18, dm3 +n3 + 3mn & AT FESF & R ?

Options:
1)0

2)1
3)2

4)3
Correct Answer: 1
Candidate Answer: 1

Question 60.The maximum number of common tangents that can be drawn to two disjoint circles is

2 3G ol § A TeaT 7 el 3eraforss Fel @ il 37wt § 2

Options:
1)1

2)2
3)4

4) Infinitely many
Correct Answer: 4
Candidate Answer: 2

Question 61.In figure, DE || BC. If DE = 3 cm, BC = 6 cm and area of AADE = 15 sq cm, then the area of AABC is

I &, DE || BC. &fe DE = 3 &%, BC = 6 V.. 31T AADE a7 &9l 15 T.31.2 &, A AABC & &19thel I hITaIT ?
A

B

Options:
1) 75sqcm
75 A.#.2
2) 45 sqcm
45 .72
3)30sqcm
30 &2
4) 60 sq cm
60 ?.70.2
Correct Answer: 60 sq cm
60 T.7.2
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Candidate Answer: [ NOT ANSWERED ]

Question 62.If cos*0 - sine = 1/3, then the value of tan26 is

e cos?e - sin?e = 1/3 &, &Y tan26 T AT AT ?
Options:
1)1,

2) ;5
3) Y,
4) s

Correct Answer: 1/,
Candidate Answer: [ NOT ANSWERED ]

Question 63.If a perfect square, not divisible by 6, be divided by 6, the remainder will be

I g ot a4 S 6 & Faemrer =1 81 3R 39 6 & faseray o feam Smw A Awher a/am g 2

Options:
1)1,30r5

2)1,20r5
3)1,30r4

4)1,20r4
Correct Answer: 1, 3 or 4
Candidate Answer: 1, 3or 4

Question 64.A batsman in his 12th innings makes a score of 120, and thereby increase his average by 5. The average score after 12th innings is

T Fooldler T 12T Il 7 TP 120 &7 § 3R 50 avg @ 38 3irad # 5 3 1 gfig @it o1 Fard o 1247 ardy & are 36 iradst TR g ?

Options:
1) 60

2) 55
3) 65

4) 70
Correct Answer: 65
Candidate Answer: [ NOT ANSWERED ]

Question 65.

Thevalue of‘d{—\-'§+ ,J3 +87 +4 3is

||
J—@+q3+ﬂ?+%§ﬂﬂmﬁ

Options:
1)2

2)4
3) +2

4) -2
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]
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Question 66.

If x* +$= 119, then the value of x — xi is

T x4+ L =1198, Ax — - FAN ATAIT?

Options:
1)6

2) 12
3)11

4)3
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

Question 67.The side BC of the AABC is extended to the point D. If ~ ACD = 112° and «B = 3/4 <A, then the value of B is

I 3 AABC 3T 3151 BC &1 faieg D e T i Sw 31R3PR 38 £ACD = 112° @1 2B = 3/4 LA G AT £B &1 A aaiSU ?
Options:

1) 64°

2) 48°

3) 46°

4) 50°
Correct Answer: 48°
Candidate Answer: [ NOT ANSWERED ]

Question 68.AABC is a right angled triangle, the radius of its circumcircle is 3 cm and the length of its altitude drawn from the opposite vertex to the hypotenuse is 2
cm. Then the area of the triangle is

AABC Teh FHHIOT Fefst ¥, 38 aRgd &1 fisar 3 4. § 3ik Ryl RfSeg & ot i 3% Wi 1w o o Y oS 2 Q.. § oY PefT o vt oram gl 2
Options:

1) 12sqcm

12 .2

2) 3sqcm

3q.2

3) 6sqcm

6 ¥.9.2

4) 5sqcm

5 .72

Correct Answer: 6 sq cm

6 A2
Candidate Answer: [ NOT ANSWERED ]

Question 69.The height of a tower is 50v3 m. The angle of elevation of a tower from a distance 50 m from its feet is

el AR & Far$ 50v3 HIeX §1 HIAR & TR A 50 e T gl TR 3ot et 10T T G ?

Options:

1) 30°

2) 45°

3) 60°

4) 90°

Correct Answer: 60°

Candidate Answer: [ NOT ANSWERED ]

Question 70.The amount of Rs. 10,000 after 2 years, compounded annually with the rate of interest being 10% per annum during the first year and 12% per annum
during the second year, would be (in rupees)

e FAfTd R STt aTel Terg e saret o, Foraet ggel a T sameT &X 10% &1 3R @R a¥ & s31eT X 12% a1f¥ie g, Y & 10000 & TR 2 a9 & weand (¥ ) /=1
gt ?
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Options:

1) 11,320

2) 12,000

3) 12,320

4) 12,500

Correct Answer: 12,320

Candidate Answer: [ NOT ANSWERED ]

Question 71.The value of tan80° tan10° + sin270° + sin20° is

tan80° tan10° + sin270° + sin20° & AT IABT ?

Options:
1)0

2)1

3)2

Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 72.The bar graph given below shows the per acre yield (in kg) of different countries. Study the graph carefully and answer the questions

AT feT 31T SR T 3 37A9T- 37197 &R0 Y TS Tehs 3UST (fh. 71T, #) iRl 718 &1 I Y &1eT A ufenw 3R geat & 3car s

India I 200
HET

Pakistan l 160
oifEE

Bangladash I 120
LGS
&ri Lanka I 132
el
Hepal I 120
AT

Bhutan I 80

‘E‘H L I i il L L L

. .
] + ' ¥ J $ y '
0 ap 60 B0 100 120 140 160 180 200 220 240

The average yield of the given countries is

Rw 1w et i twd ST FE ?
Options:
1) 1321/3

2) 1331/5
3) 1341/;

4) 1351/3
Correct Answer: 1351/3
Candidate Answer: 1351/5
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Question 73.The bar graph given below shows the per acre yield (in kg) of different countries. Study the graph carefully and answer the questions

AT feu 317 SR T 3 37eA9T- 37197 &Rif Y 9f Tehs 3UT (fh. 71T, #) iRl 715 &1 I Y &1t A ufew 3R geat & 3car fefaiw)

India I 200
HET

Pakistan l 160
BiiEESIn]

Bangladash I 120
a2

Sri Lanka I 132
EiEat
Nepal | 120
e

Bhutan I a0

"E‘H L I | L L I L L

} } ¥ + ' ] 1 ' y T
20 a3 60 B0 100 120 140 160 1B0 mzinz;n

By how much percentage is India's per acre yield more than that of Pakistan's?

AR Y 9T ThE 39T qifFEaT $r 9fa T 39 ¥ fhae gfaea s ¢ ?

Options:
1) 20%

2) 25%
3) 33 1/3%

4) 35%
Correct Answer: 25%
Candidate Answer: 25%

Question 74.The bar graph given below shows the per acre yield (in kg) of different countries. Study the graph carefully and answer the questions

AT feu 317 SR AT 3 37eA9T- 37197 &R0t Y Ui Tehs 3UT (fh. 71T, #) iRl 715 § | I Y &1eT A ufenw 3R yeat & 3car fefaiw)

India I 200
HET

Pakistan l 160
BiiEESIn]

Bangladash I 120
a2

Sri Lanka I 132
EiEat
Nepal | 120
e

Bhutan I a0

"E‘H L : | L L I L L

t t ¥ 1 ] 1 ' y T
20 a3 60 B0 100 120 140 160 1B0 mzinz;n

Srilanka's yield (approximately) is what percentof total yield of all the countries?

T it Y Fo e FT 3uT AT A 39T e gforer (@) 82

Options:
1) 17.8%

2) 16.2%
3) 18.2%

4) 15.4%
Correct Answer: 16.2%
Candidate Answer: 15.4%
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Question 75.The bar graph given below shows the per acre yield (in kg) of different countries. Study the graph carefully and answer the questions

AT feu 317 SR T 3 37eA9T- 37197 &Rif Y 9f Tehs 3UT (fh. 71T, #) iRl 715 &1 I Y &1t A ufew 3R geat & 3car fefaiw)

India I 200
HET

Pakistan ] 160
e

Bangladash I 120
ElER

Sri Lanka I 132
EiEat
Nepal | 120
e

Bhutan I a0

HeH (R .

} } ¥ + ' ] 1 ' y T
20 ag 60 B0 100 120 140 150 180 200 220 240

Writing the yields of all countries in ascending order, the difference between the sum of yields of first three countries to that of last three
countries is

I weft it Y U Y I F A T S0 A el AT i A For 3 A T ofter Geit A Fer 39S F FAT IR gem ?
Options:
1) 200 kg
200 f.am.
2) 212 kg
212 f&F.9m.
3) 172 kg
172 fF.am.
4) 162 kg
162 fop.3m.

Correct Answer: 172 kg
172 fR.am.

Candidate Answer: 172 kg
172 ..

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

CUPIDITY

Options:

1) FEAR

2) FRIENDSHIP

3) GREED

4) LOVE

Correct Answer: GREED

Candidate Answer: [ NOT ANSWERED ]

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

CAPTIVATE

Options:

1) DISTRACT

2) OBSCURE

3) IMPRISON

4) RELEASE

Correct Answer: DISTRACT

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Clandistine

2) Clandestine

3) Clandistene

4) Clandestene

Correct Answer: Clandestine
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Candidate Answer: Clandistene

Question 79.1In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “"No error” option.

Can I have (A) / a loaf of bread (B) / and a jam jar? (C) / No error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

Now that I am back at work, (A) / I have beginning (B) / to feel much better. (C) / No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the “No error” option.

The artist, plainly a better critic (A) / than painter, destroyed what (B) / he made over for ten years. (C)/ No error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: [ NOT ANSWERED ]

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Never give your friends

Options:

1) the cold arm

2) the cold elbow

3) the cold shoulder

4) the cold hand

Correct Answer: the cold shoulder
Candidate Answer: the cold hand

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

My mother upset the kettle of boiling water and her hand.
Options:

1) scalded

2) scolded

3) scorched

4) wounded

Correct Answer: scalded

Candidate Answer: scorched

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

His writings are mistakes.
Options:

1) brooded with

2) burst into

3) replete with

4) boasted of

Correct Answer: replete with
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Candidate Answer: boasted of

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Cut a sorry figure

Options:

1) Did not stand straight

2) Apologised for his remarks
3) Created a wrong impression
4) Made a poor impression

Correct Answer: Made a poor impression
Candidate Answer: Apologised for his remarks

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To take to task

Options:

1) Forgave him

2) Slapped him

3) Gave him extra work
4) Reprimanded him

Correct Answer: Reprimanded him
Candidate Answer: Gave him extra work

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Bring to light
Options:

1) Introduced

2) Revealed

3) Seen

4) Brought to life

Correct Answer: Revealed
Candidate Answer: Introduced

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A job carrying no salary
Options:

1) Honorary

2) Memento

3) Honorarium

4) Memorandum

Correct Answer: Honorary
Candidate Answer: Honorary

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Act of stealing something in small quantities
Options:

1) Pillage

2) Plagiarise

3) Proliferate

4) Pilferage

Correct Answer: Pilferage

Candidate Answer: [ NOT ANSWERED ]

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Pertaining to the west
Options:

1) Celestial

2) Occidental

3) Oriental

4) Terrestrial

Correct Answer: Occidental

Candidate Answer: [ NOT ANSWERED ]
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Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

As soon as I arrived in home, I knew that something was wrong.
Options:

1) arrived by home

2) arrived home

3) arrived my home

4) No improvement

Correct Answer: arrived home

Candidate Answer: No improvement

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

Unfortunately I did not pass in the examination
Options:

1) I did not pass over

2) I did not overcome

3) I did not pass

4) No improvement

Correct Answer: I did not pass

Candidate Answer: No improvement

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

His powerful desire brought about his downfall.
Options:

1) His wishful desire

2) His desire for power

3) His eager desire

4) No improvement

Correct Answer: His desire for power

Candidate Answer: His wishful desire

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

Ramesh laid in the shade of a tree before he could walk further.
Options:

1) lied

2) lay

3) lain

4) No improvement

Correct Answer: lay

Candidate Answer: lied

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to “No improvement”.

An education in handling money would imply the ability to oversee the consequences of over-spending or over-borrowing.
Options:

1) foresee

2) overlook

3) overvalue

4) No improvement

Correct Answer: foresee

Candidate Answer: foresee

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

A knowledge of grammar is essential for good speaking and writing, by which one's mind is judged. Studying grammar means hard work: it must be learned as a
whole, with no part omitted, and it demands much thought and patience. But, once acquired, it can give a life-time's pleasure and profit. Its study requires no physical
hardship, no special room or expenses. If people spent only their leisure time studying grammar they could master it in one year. The author learned it in less than a
year. As a private soldier earning sixpence a day, he sat on his bed and studied. Unable to afford candle or oil, he read in winter by firelight (when it was his turn). If
he could manage it thus, and with no outside encouragement, then any youth, however poor or busy, could do the same.

Why should we learn grammar?
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Options:

1) To develop speaking skills

2) To develop writing skills

3) To have a mastery over language

4) To acquire good speaking and writing skills

Correct Answer: To acquire good speaking and writing skills
Candidate Answer: To acquire good speaking and writing skills

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

A knowledge of grammar is essential for good speaking and writing, by which one's mind is judged. Studying grammar means hard work: it must be learned as a
whole, with no part omitted, and it demands much thought and patience. But, once acquired, it can give a life-time's pleasure and profit. Its study requires no physical
hardship, no special room or expenses. If people spent only their leisure time studying grammar they could master it in one year. The author learned it in less than a
year. As a private soldier earning sixpence a day, he sat on his bed and studied. Unable to afford candle or oil, he read in winter by firelight (when it was his turn). If
he could manage it thus, and with no outside encouragement, then any youth, however poor or busy, could do the same.

How does the world judge a man's mind?
Options:

1) By his dress

2) By his manners

3) By his appearance

4) By his speech and writing

Correct Answer: By his speech and writing
Candidate Answer: By his speech and writing

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

A knowledge of grammar is essential for good speaking and writing, by which one's mind is judged. Studying grammar means hard work: it must be learned as a
whole, with no part omitted, and it demands much thought and patience. But, once acquired, it can give a life-time's pleasure and profit. Its study requires no physical
hardship, no special room or expenses. If people spent only their leisure time studying grammar they could master it in one year. The author learned it in less than a
year. As a private soldier earning sixpence a day, he sat on his bed and studied. Unable to afford candle or oil, he read in winter by firelight (when it was his turn). If
he could manage it thus, and with no outside encouragement, then any youth, however poor or busy, could do the same.

How long would it take to gain mastery over grammar?
Options:

1) One year

2) Six months

3) Two years

4) Ten months

Correct Answer: One year
Candidate Answer: One year

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

A knowledge of grammar is essential for good speaking and writing, by which one's mind is judged. Studying grammar means hard work: it must be learned as a
whole, with no part omitted, and it demands much thought and patience. But, once acquired, it can give a life-time's pleasure and profit. Its study requires no physical
hardship, no special room or expenses. If people spent only their leisure time studying grammar they could master it in one year. The author learned it in less than a
year. As a private soldier earning sixpence a day, he sat on his bed and studied. Unable to afford candle or oil, he read in winter by firelight (when it was his turn). If
he could manage it thus, and with no outside encouragement, then any youth, however poor or busy, could do the same.

What is the occupation of the writer?
Options:

1) Teacher

2) Soldier

3) Artist

4) Clerk

Correct Answer: Soldier
Candidate Answer: Teacher

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

A knowledge of grammar is essential for good speaking and writing, by which one's mind is judged. Studying grammar means hard work: it must be learned as a
whole, with no part omitted, and it demands much thought and patience. But, once acquired, it can give a life-time's pleasure and profit. Its study requires no physical
hardship, no special room or expenses. If people spent only their leisure time studying grammar they could master it in one year. The author learned it in less than a
year. As a private soldier earning sixpence a day, he sat on his bed and studied. Unable to afford candle or oil, he read in winter by firelight (when it was his turn). If
he could manage it thus, and with no outside encouragement, then any youth, however poor or busy, could do the same.

The learning of grammar should be
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Options:

1) patient, thoughtful and holistic

2) thoughtful, patient and piecemeal

3) holistic, thoughtful and rapid

4) thoughtful, rapid and piecemeal

Correct Answer: patient, thoughtful and holistic

Candidate Answer: [ NOT ANSWERED ]
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